Rozlozit na soucin:
a’—4 =

(@ -2le + 2)
4b% — 49 =

(28 — 126 + 7
25¢° -1 =

(5¢ = Nl5c + 1)

8d°-18 =

2

2d —=9) = ald - 3)d + 3)

25e° — 25 =

25(02 —1) =5 =1 + 1)

36F =100 =

4(9@2 - 25) = 2(3f - 5)(3f + 5)

3g°-3 =

3lg = 1Nlg + 1)
12h° =75 =
3(R - 5)(R + 5)

0,87°-18 =

o,:z(frf - 9) = 02024 - 3)(24 + 3)

Umocni:
(@a-5)7° =
2
o — 100 + 25
(4b—3)* =

2
160 + 246 + 9
(6c—7)° =

2
36c — 84c + 49
(d—8e)* =
df + fede + 64@2
Qe - 1) =

2
8, — 180 + 1
(5f - 1g)* =

2 )
25 + 10y + ¢
(g-0,6)" =
2
g — 129 + 036
(0,5h = 3)° =

2

025 + 3R + 9
(2,5 - 6)° =

2 .
6,25{4{ — SO} + 36
(6k —0,8)° =
36+ 96k + 0

0,1m—=0,2)° =

2
00tm — 004m + 004

G-3)-

1.2
Zw—3w+9

vynasob:
(a+6)a—06)=

¢ - %

(b +0,5(0b-0,5) =
L - 025

(7c + T)(Tc-11) =
490 — 124

(0,3d +1,2)(0,3d - 1,2) =
009d — 144

(e + 3)(e—3f) =

o - 9@2

(fg + h)(fg —h) =
bo -

(79 + 4h%)(7g — 4h?) =
w;—%ﬁ
(h+g)=h-g) =
-y

(55 — 2k)(= 5) - 2k) =
zyf-4ki

(5k> + m)(5k> = m) =
2R - m
F+9)E-9)-

2
lm — 81
9
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gx +6x%+81%



